bC

° k55
RO4
R95
R131 o7
R23  c117 C24 C23
C48 c121 0.1uF 0.1uF)
R66
K_| Re7
1K R68
> c118
A T
p 100pF
75K b
o
5 100K = -
C37 R126 | 30K
0.1uF) 50K | 1nF
-
100F | o
©Cc49 u17 100pF 0.1uF) €28 (0.1uP) c21 c22(0.4uF
e 470K
3 =
= 150K
30K
0.1uF) 50K |( 1aF
C116 R69
=
) 3w
~ o = i3] S
§2 52/2° @2 o
Ll e
0 oS~
(=]
M o
=N
CANI= R c26 Rl 10K IR
P o 0MuF) (10K (04up ©35
e w5 2 aS @ 0
“rm 57 F o ol €27 = 8 S 2 o
Q5|2 e e s [sls]x
b 3 5 © g R32| 150 |IS sle 10uF | C54
C114 3 o R30 | 47K
R29 | 47K 0_IR28
1QuF 0.1uP) C64
g 3|y 0.0uF) C56
100K | R61
X I [Tt R132 100K | R62
xE x5k 335 03 BE2  ygor- o
= - 2 52xITI0 I ~
505 " & @ e A°0)%3 (gnjrg)g | 47K | R121
x wln s —o 102
SE8eEET o 2505565 o LATKIRTE
0.1uF) S ¢75 0 I ZHNBIBLS YL | 3 | 47K (R127 ©
o c76 < 238 47K | R129
.1l %% Cc78 e = O c87
i) (0P 35 c107 w2 o1 220F) 22PF( 01U 37.4 | R46 -
a <= = 3
S S 2.2uF wﬁ IS5 coz CO1 (0.uF) 37.4 | 47K
10K u10 s 58 C86 k45 (0.uF) 47K | pog
470k Re4| 47K | & 2 = W )Se
5 R63| 47K o (0.1uF) C82 U35 10F
el2I o o 17K —
0 ™ ® ©R74 n b
~ S S o - 3] L26 =] . 1uF 288
o (i
3 &85xxg2g Mz (3 [ gap o2 Rog| 0 | 47k| 5
= NRas+v¥°d G 1 g
& KR RSB « R134
R2 R138 S Bxx/x|5) BeAD | wr
330pF x ¥ <+ o 18 ¢l
o N
o0
47K |E
a7k [0
R128
W 47K | R130
025
21 5
w
X o
N
BEAD Y
u26 x ©
u23 S e
L4
5 E o
47K | R88
u24 i
47K | R91
47K R
47K R96
O X|o o
m% 47K Y 2 RESET
Xixxix 47K x5
~NEN E
i b E Rz [ 5 2[5 5|gvs
28358 8 s| ® 8 " gy
bxxa o ] m o mﬂ_ 47K
(&) o har}
0P €3 8 -

L CD8

POWER

R3

330R

10uF

c41

R25
2K

D3

DS



